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Math 085
No Calculators
No work = no credit.
	Name: ________________________________

Property is a nuisance. 
Paul Erdös (1913 - 1996)

Hungarian mathematician
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1 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(12 pts) Use the properties of exponents to simplify the following:

	a.) 153 · 152

___________________
	b.) x4 · x5 · x8

___________________
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2 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(4 pts) Evaluate: 3x2 – 4x +7  when x = –2

Solution: ___________

3 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(8 pts) Find and simplify the following.  Express results in descending order.

	a.)  (3x2 + 4x – 5) + (x2 – 7x + 4) 

____________________________________
	b.) (6a2 + 8a – 10) – (a2 – 2a + 7)

____________________________________


4 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(8 pts) Find the product.  Express results in descending order (when possible).

	a)  5x2(3x4 – 6x3)
____________________________________
	b)   3m2n3 (5m3 – 7mn2  – 2n)
____________________________________


5 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(8 pts) Find the quotient:  

	a.) 
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6 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(16 pts) Find the following products.  Simplify and write your resultant polynomials in descending order.  Give the degree of the polynomial where indicated.  
	a.) 
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Degree: ___ & Polynomial: _______________
	b.) 
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Polynomial: _______________

	
	

	c.) 
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Polynomial: _______________
	d.) 
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Degree: ___ & Polynomial: _______________


7 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(4 pts) Find the quotient:
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Solution: _____________________
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